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2013 WINTER SESSION

Assignment 2 Solutions

The following solutions are taken from the solutions manual for the Wireless Communications texbook by Rappaport (first edition).
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EbCverNo_dB = 0:15; % Eb/No (dBl;
EbOverNo = 10.A (EbOverNo_dB/10);

Pe_BPSK = Q(sqgrt(2+EbOverNo));
Pe_DPSK = 0.5*exp (-EbOverNo):
Pe_FSK_NC = 0.5%exp(-0.5*EbOverNo) ;

figurel(l); L
semilogy{EbOverNo_dB, Pe_BPSK, ' -, EbOverNo_dB, Pe DPSK,’ ==, ...
EbOverNo_dB, Pe_FSK_NC,'=.'):

rid;
%itle( (*Comparison of the probability of bit error for several’, ...
+ digital signaling schemes']):
xlabel (‘Eb/No  (dB) ');
ylabel (" Probability of Error):
legend (*BPSK, QPSK','DPSK’,’non-coherent FSK'):
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